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L 8 n=.4y=.¥.

da00=:det a00=:(i.n-3){"1(i.n-3){y

dall=:det all=:(i.n-2){"1(i.n-2){y

dal2=:det al2=:((i.n-3),n-2){"1(i.n-2){y
dal3=:det al3=:((i.n-3),n-1){"1(i.n-2){y
da2l=:det a21=:(i.n-2){"1((i.n-3),n-2){y
da22=:det a22=:((i.n-3),n—2)[“1((i.n—3),n—2){y
da23=:det aZ3=:((i.n-3),n—1){"1((i.n—3),n—2){y
da31l=:det a31l=:(i.n-2){"1((i.n-3),n-1){y
da32=:det a32=:((i.n—3),n—2){"1((i.n—3),n-1){y
da33=:det a33=:((i.n-3),n-1){"1((i.n-3),n-1){y
delta=:3 3$da1a,da12,da13,da21,daZZ,daZB,daBl,da32,da33
ans=:(det delta)%dal00”2
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